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INSTRUCTION TO CANDIDATES
Immediately after getting the booklet read instructions
carefully, mentioned on the frontand back page of the question
booklet and donot open the seal given on the right hand side,
unless asked by the invigilator.

Write your Roll No., Answer-Sheet No., in the specified places
given above and do your signature.

Make all entries in the OMR Answer-Sheet as per the given
instructions otherwise Answer-Sheet will not be evaluated.

After opening the seal, ensure that the Question Booklet
contains total no. of pages as mentioned above and
printing of all the 100 questions is proper. If any
discrepancy is found, inform the invigilator within
15 minutes and get the correct question booklet.

While answering the question from the Question Booklet, for
‘each question choose the correct/ most appropriate option
out of four most appropriate options given, as answer and
darken the circle provided against that option in the OMR
Answer-Sheet, bearing the same serial number of the question.
Darken the circle only with Black or Blue ball point pen.
Darken the circle of correct answer properly otherwise answers
will not be evaluated. The candidate will be fully responsible
forit.

There are 100 objective type questions in this Question
Booktet. 1 mark is allotted for each correct answer.

No negative marking will be done.

Do not write anything anywhere in the Question Booklet and
the Answer-Sheet except making entries in the specified
places otherwise OMR sheet will not be evaluated.

After completion of the examination, only OMR Answer-
Sheet is to be handed over to the invigilator. Carbon copy
of the Answer-Sheet and Question Booklet may be taken
away by the examinee.

“This Question Booklet consists of Five Parts :

(i) First Part : General Mental Eligibility - 30 Marks
‘(ii) ‘Second Part : General Knowledge - 20 Marks
(iii) Third Part : Educational Interest - 30 Marks
(iv) Fourth Part : General Hindi - 10 Marks
(v) Fifth Part : General ‘English - 10 Marks

Bach question contains 1 mark. All questions are compulsory.

In case of any ambiguity in Hindi version the English
version shall be considered authentic.
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FIRST PART W W
General Mental Eligibility [T AR FrEan

1. How many squares are there in the 1. et ey H Tera €2

following figure ?

(A) 24 (A) 24
(B) 16 (B) 16
(C) 26 (C) 26
(D) None of these (D) T ¥ I T

2. Find the missing number in the following 2. T srifwes it o fogw HEAT T HIS |

number series :

2.5,9,7, 10,14, _2 , 16,20,20, 23,27, 2,5,9,7 10,14, _2 , 16,20, 20,23, 27,
28 28

(A) 11 (A) 11

(B) 14 (B) 14

() 13 (C) 13

(D) None of these (D) 38 | HIE Tl

SPACE FOR ROUGH WORK / T% & & foa s e
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3. How many cubes are there in the given 3. 3@ M3 for & =i =t den fraft 87
figure ?
S jl
T T
(A) 14 (A) 14
(B) 15 (B) 15
€ 16 (C) 16
Dy 17 (D) 17
4. OBDR, QACT, (?), UYAX, WXZZ 4. OBDR, QACT, (?), UYAX, WXZZ
In the series above find which will fill the Frafafaa o | Qe T T 1 e ?
blank.
(A) ASVD (A) ASVD
(B) SZBV (B) SZBV
L
(©) RAAV (C) RAAV
(D) SZBU ‘_ (D) SZBU
SPACE FOR ROUGH WORK / T% &1d & &3 sig
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5. In the following cube how many cubes

are jointed together to form a big cube ?

2
(A) 16
(B) 32
© 8
(D) None of these

6. Difference of sums of numbers at

diagonals of the central square is :

1 12 15 11
5 2 13 16
8 6 3 14
10 9 7 4

(A) 29

B 1

< 14

(D) None of these

5.

6.

et 57§ fha S ST ) TR Sg

T ST T SR T ?

7
(A) 16
(B) 32
C) 8
(D) T ¥ ¥ T
N P N R e R b
33[?1'(%

1 12 | 15 | 11
5 2 13 | 16
8 6 3 14
10 9 7 4

D) T & wE

“SPACE FOR ROUGH WORK / 7% e & fordl rte
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7.  Find correct answer. 7. HEl W M@ Hifeg )

3 19 23 3 T~ 19 23
AIBIET | [AIBE] |
75 31 29| 75| W Wis 2
473 17 3
(A) 43D41 (A) 43[]41
37_4 37 4
® % ® (%%
3739 3739
© 43@41 © 4=
574l
© (g (0)
8.  Find the next figure : 8.  37Ten st 9 ST

~J

@
-~

ggﬁﬁk o ‘§ 

a) O ») SO>
® AO@[3 ® O[3
© JOP © JOpP>
O SO ® JA@p

o
3

SPACE FOR ROUGH WORK / % &4 & for&d stmg
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Find the missing number in the following

number series :

69,7066, 57, —2—16

(A) 41
(B) 50
(C) 40
(D) 35

COD, BOE, AOF, (?)

Find which of the following comes in

blank space.
(A) XOF
(B) ZOB
(©) zOH
(D) ZOG

Using the following figures find when ‘3’
is at the top, which number will be at the
bottom.

Y

6

&K

(A)
(B)
©)
(D)

N N

10.

11.

e s S0 8 Foreges e I FARAT

69,70, 66,57, _ 2,16
(A) 41
(B) 50
(C) 40
(D) 35

COD, BOE, AOF, (?)
Freferfiaa # @rel T o w1 3 ?

(A) XOF
(B) ZOB
(C) ZOH
(D) ZOG

Ereifrd fasi 1 3TEM X 9@ i
IE ‘Y TR, q A= B W OHE S ?

(A) 4
(B) 2
© 5
(D) o

SPACE FOR ROUGH WORK / T T4 & ot sTie
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.12.  Which is water image of the following 12. i Frafafe EIRSGRIGIEL 22
figure ?

(D) None of these (D) =7 9§ 1 &

13. If’ELECTION’ is coded as 'VOVXGRLM!,  13. 3f¢ ‘ELECTION’ ! %o foar wmm 3

then “UNIVERSITY” will be coded as : ‘VOVXGRLM’ 9, @9 “UNIVERSITY’ &I
HIFG o s/

(A) GMRSVHIFL (A) GMRSVHIFL &

(B) FMREVIHGB (B) FMREVIHGB ¥

(€©) FMRSVIHGB (C) FMRSVIHGB ¥

(D) None of these (D) 378 ¥ = 78

SPACE FOR ROUGH WORK / T% =td & ford srrg
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14. What will be the next number in the given 14, & TS 37 WA HI S Waﬁ? 'FlT'a;’ITH ?

number series ?

5,16, 51,158, _7 5, 16,51, 158, 2 —
(A) 483 (A) 483
(B) 481 (B) 481
(C) 490 (C) 490
(D) 491 (D) 491
15. Choose the odd one. 15. firs =l gfATl
(A) 17 () 17
(B) 19 T (B) 19
() 21 ' (C) 21
(D) 23 | (D) 23
16. Find the next figure. 16, oTTen Fos S

(A) 4:!7 = ' (A) éj,—? dh g
o 28 o 7 28
© &0 © 4 =0

(D) All of the above (D) T Wl

B
i

SPACE FOR ROUGH WORK / & & & o se
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17. Find the missing number in the following 17, 7= a7 & faqw e 3@ #ifaw)
square.
3 |31 2 3 | 31| 2
13| 2 | 21 13| 2 |21
20 | 3 | 13 20 | 3 | 13
(A) 12 (A) 12
(B) 2 (B)' 2
(©) 0 (C) 0
(D) 20 (D) 20~
18. Find the odd one from the following. 18. freifera & & fawe 5 # |
(A) Book : Page (A) T : 99
(B) Table : Drawer (B) & : TR
(C) Shirt : Cloth (C) ST : T
(D) Car : Wheel (D) R : =H
SPACE FOR ROUGH WORK / T% &1 & fod sre
Set - A 10 9120/ TF-BT/PP-M



19. Find the next figure.

DoooR

0 &
o &

© @
o Y

20. Find correct answer

j2lcholia

4

(A)

9 16
4

4
(B) ‘9

16

3

4
(©) 9

16
4 16

9

| 4
(B) 9

(A)

(®) @

o )
) IUI

Hﬁ;ﬁmﬁml

3

0

19

EEE

1

16

a

4 4
9 16
4

16
3

4

16
4. 16

(D) 4

9

SPACE FOR ROUGH WORK / T & % o8 SR
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21.

22.

I£EA, B, C D, .. have place values like

A, .2, 3, =4, s , !:hen

A-B+F+CxM-V+Y=
A) 0
(B) 28
© -3

D) 5

Find the missing number in the following

number series :
0,2,4,7,16,20,36, _? 66,72
(A) 71

(B) 41

(C) 60

(D) None of these

21.

22.

afg A, B,C, D, ... F T "E ¥
1, 2, 3, 4,
A-B+F+CxM-V+Y=

(A) 0
(B) 28
< -3

D) 5

foret sriferer Sroft ® forerar W i wifw )

0,2,4,7,16,20,36, _2__, 66,72
(A) 71
(B) 41
(C) 60

(D) T &+ T

SPACE FOR ROUGH WORK / % &1 & ford s

Set - A
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23.

24,

Match the figure from the given figure
having same number of slant lines as in

the given figure.

&Y

(A)

(B) D\J
© D‘i
T

(D) None of these

Identify the wrong number in the series.
18, 51, 150, 487, 1338.

(A) 18

(B) 51

(C) 487

(D) 1338

23.

Forst o Trrem fore forad seft & we |
e Y & foret o Feafeafia Forot 21

(A) |

(B) l}_’\ﬁ

(©

(D) T ¥ FIE T

st sigen H | e $F F1 gt |

18, 51, 150, 487, 1338.

(A) 18

. (B) 51

(C) 487

(D) 1338

SPACE FOR ROUGH WORK / T® & & for ST
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25. If'A’,’B,’C and ‘D' mean’+’,’~', "+’  25. AR ‘A, ‘B, 'C a0 ‘D & a7 § wown
and "X’ respectively ancﬂ.'if a,bcd, .. LI AT X qAql I a, b, ¢ d, ...
have place values like 1, 2,3,4,...,then F o W R 1,2, 3, 4, ... , 9
aDxALCfBpChb="" aDxATCfBpCh =
(A) 22 (A) 22
(B) 20 (B) 20
< 0 ()
(D) None of these (D) 99 | w5 T
26. Find correct answer. 26. HE I I FHSQ
1 0] 3 1 03 2
{
3 5 ? 3B, 50 ?
A A C
76 7 6
@A) ot A
g g
7 6 7 6
® o ® o
g g
7 6 7 6
© |1 © =
9 G G
7 6 7 6
H H
D) 19 D) |9
G G
'SPACE FOR ROUGH WORK / T% & & fed g
Set- A 14 9120/ TF-BT/PP-M



57, 1f*AIRSTRIKE is coded as ‘KIRTSRIEA’,

28.

then ‘PATHANKOT will be coded as :

(A) OKNAHTATP
(B) KONAHTATP
(C) OKNAHTAPT

(D) TOKNHATAP

If ‘rat mat lat tat’ is the code of ‘Mohan
is very young’; ‘tat sat bat fat’ is the code
of ‘Boys may be young'; ‘mat fat bat cat’
is the code of “Mohan may be handsome’;
then what is the code of ‘Boys may be

handsome’ ?

(A) cat fat rat sat :
(B) rat bat mat tat‘) ‘
(C) cat fat bat sat

(D) None of these

27. R ‘AIRSTRIKE #) F2os frm S 3

28.

"KIRTSRIEA’ ¥, 7 "PATHANKOT"
g e

(A) OKNAHTATP @
(B) KONAHTATP @
(C) OKNAHTAPT ¥

(D) TOKNHATAP ¥

Ife “Mohan is very young I %< ¥ ‘rat
mat lat tat’;“Boys may be young T %< ?
‘tat sat bat fat’; ‘Mohan may be
handsome” &l &< %’ mat fat batcat’ ; 9
‘Boys may be handsome’ it F& ¥ 3?7

(A) cat fat rat sat
(B) rat bat mat tat

(C) cat fat bat sat

D) THIFETE

"SPACE FOR ROUGH WORK / T @18 & R s

" 9120/ TF-BT/PP-M
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29. Three different positions of a dice are 29. U UM = 9 feafqar = SR € 2 foig

given below. How many dots lie opposite + oot foram foig @ 2
to 2 dots ? : . -
DWONA
3 &g & SRR
. . . el \{L’/ \;/
(1) (if) (iii) (i) (if) (iii)
(A) 1 (A) 1
(B) 3 (B) 3
< 5 ) 5
(D) 6 (D) 6
30. Find correct answer. 30. 9 SWFE I |

Q

¥ | ) |
Y p—
? ‘ 16 12 ?
o

E[@[E

" SPACE FOR ROUGH WORK / T% & & ford s7e
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31.

32.

33.

SECOND PART

General Knowledge

Which of the following state is largest in

terms of population ?
(A) Maharashtra

(B) Bihar

(C) Uttar Pradesh
(D) Madhya Pradesh

Which of the following recommended
that multipurpose schools should be
introduced in the school education

system ?
(A) Mudaliar Commission - 1952 - 53.

(B) Acharya Rammurty Committee -
1990.

(C) National Curriculum Framework -
2005.

(D) National Policy on Education - 1968.

How many articles are there in the
constitution ?

(A) 395 articles
(B) 414 articles
(C) 435 articles

(D) 444 articles

31.

32.

33.

fogeitar v
A= JH

SEEn # gfe A = ¥ § sR-w
oY e G ?

(A) WS
B) fmr

(C) W T
(D) W& I

Frefortaa § 9 fram gg fawfa &t o 5
Forarerdt Toren sgacer ¥ SgsEia fomme
ity foru s =nfee ?

(A) HfTIR HHTH ~ 1952 - 53
(B) e TRAf FHE - 1990

(C) T TreEEAl B Il - 2005

(D) T fre fifd - 1968

Hfaum | frar SR 6 7

(A) 395 AT
(B) 414 =R
(C) 435 STTHT
(Dj 444 TT]

SPACE FOR ROUGH WORK / T Td & fordl Sre
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34. Wh1ch a;fe Components éf ‘pﬁrim’ary sector 34. “TRT‘ﬁ?I aqsﬁsqawé: Tt &5 % S R
of Indian economy ? qg? -
(i) Agriculture and Animal () FH T agIe
Husbandry _
(i) Forestry (i) =TeRT
(iii) Fishery (iii) HEYTTH
(iv) Mining and Quarry (iv) @I TE I
(A) Only (i) (A) FIA (i)
(B) () and (ii) (B) () T (ii)
(C) (i), (i) and (iii) " o (©) (i), (i) T (iii)
(D) (i), (ii), (iii) and (iv) (D) (i), (ii), (iii) T (iv)
35. In view of structure Meghalaya plateau  35. W USX H'{ﬁjl‘aﬁ@ﬁﬁmﬁv‘mﬁ
is similar in period to :- - g7
(A) Shivalik ™ (A) Terenfers,
(B) Aravali (B) Uil
(C) Chota Nagpur (C) BRI ARTR
(D) Kumaon (D) BHIY
36. - What was the.rey-ised»fis;C,alsdef_icit‘: rate | 36. Brsf 2018 - 19 # YA aﬁwawéaqu
fixed for Indian economy in the year  Hufa W‘Sﬁq ?TEIEFFT T ﬁﬂfﬁﬁ Eal
2018 - 19 ? Tt ot ? ,
(A) 3.2% of GDP  «:: (A) TEHS HE IR F 3.2 gfavm
(B) 3.3% of GDP (B) HHel g IS 1 3.3 T
(C) 34% of GDP (C) HHe Se] IR Il 3.4 i
(D) 3.5% of GDP (D) Hhel BT IR H1 3.5 Thavr
SPACE FOR ROUGH WORK / 1% &rd % ferdt sTg.
18 9120/ TE-BT/PP-M
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37.

38.

39.

40.

Who of the following was the leader of 37.

the Oraon movement in the region of
Chota Nagpur in 1914 - 15 ?

(A) Vishnu Bhagat
(B) Koya Bhagat
(C) Shyam Bhagat
(D) Jatra Bhagat

Old folded mountain is : 38.

(A) Aravali
(B) Rocky

(C) Andes
(D) Himalaya

Which of the following movement was 39.

inspired by Henry Vivian Derozio ?
(A) Young Christian Movement
(B) Young Bengal Movement

(C) Young Protestant Movement

(D) Yugantar Movement

What State Gross Domestic Product’s 40.

growth rate is estimated for the year
2018-19 at
Chhattisgarh ?

(A) 7.08%
(B) 6.08%
(C) 5.08%
(D) 6.58%

constant prices in

1914 - 15 T BT TR & ¥ T I AR
1 o frefafaa Ha A @ ?

(A) TP
(B) WAl W

(C) W 9T

(D) T T

At forferar QAR Frefafoa form stider
1 IO YSH i ?

(A) 3 ferfae sider
(B) T SR SR

(C) TN IREE AT
(D) iR ST

mﬁfwaﬁnﬁmaﬁzms-w%
foe TS % T SRE SR A R (e T
SETE i T R 2

(A) 7.08 Ffaw
(B) 6.08 Ffawra
(C) 5.08 wfaem
(D) 6.58 g

SPACE FOR ROUGH WORK / T® e & fod e

9120/ TF-BT/PP-M 19
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41.

42,

43,

44.

Who amongst the following invented the  41.

e-mail ?

(A) Vint Cerf

(B) James Gosling
(C) Tim Berner

(D) Ray Tomlinson

The theme of 4% international Yoga Day, 42.

June 21, 2018 was :

(A) Yoga for Soul

(B) Yoga for Peace

(C) Yoga for Health
(D) Yoga for Harmony

At which of the following conference the 43.

Non-Alignment Policy of India was

conceived ?

(A) Bandung conference
(B) Delhi conference
(C) Cairo conference
(

D) Manila conference

In the following which oil region is 44.

situated in Gujarat ?
(A) ‘Badarpur

(B) Lunej

(C) Basin

(D) Naharkatiya

$-er ) i P D o ) 22

(A) fde wh
(B)  SI=g TigieT
(C) fem s
(D) X <HfaEd

e SRR A e, 21 5[, 2018
fawa (oi9) o

(A) e % e 9
(B) wrifa & forw 4
(C) w&rEem & faw am
(D) EHe= & g 9m

frafafea § 9 fra aiem & ura =) frfe
i =1 IRy gem ?

(A) TG HHH
(B) feeett T=em
(C) Hifew T e
(D) T g e

71 8 @ %9 T 3 & TR | frer €2

(A) TR
(B) I
(C) =
(D) EeIRiea

SPACE FOR ROUGH WORK / T® & & fod sIe
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45. Assessment for learning is to : 45.

(A)

(®)
©)

(D)

46. Which of the following is matched in the 46.

Provide ranking to the students in
the class.

Create stress among the students.
Be done only once in the whole
academic year.

Improve learning by providing a’
constructive feedback.

context of Head of the House ?

()

(i)

(i)
(iv)
(A)
(B)
©)
(D)

47. Who can be removed by Impeachment ? 47.

)

(i)
(i)
(iv)
(A)
(B)
©
(D)

Speaker of State Legislative
Assembly.

Chairman of State Legislative

Council.

Speaker of Lok Sabha.
Chairman of Rajya Sabha.
(i)

(@), (i)
(i), (if), (iii)

(i), (i), (i), (iv)

President

Judges of Supreme Court
Judges of High Court

Chief Election Commissioner
@

(), (i)

(i), (i), (iid)

(i), (i), (i), (iv)

e 3 oy STRe €

(A) o5 e F Franfeat w1 Gl wem wH
¥R frm ST el

(B) 7z Ferenefat # e SR A T

(C) 7 ¢ Hferer o F e T AR TR
Sicikd

% TEREE Trge ST Fd BT
dray w1 A F@ S

(D)

et ¥ g 3 wed # e # & o gAfew
7?2

G) T fauE WA E2iCTy
() Toa faur wREg [Tl

(i) ol | R T
(v) T WA WA
Aa) O

B @, @)

(©) (i), (i), (i)

(D) (i), (i), (i), (v)

e g TRl e feRa S Wehl § 2
(@) g

(i) w5 EIRICIN

(i) S AR F =T

(iv) e et g

(A) @

(B) (@), (D)

(© (), (i), (i)

(D) (i), (i), (i), (iv)

SPACE FOR ROUGH WORK / T% &Td & fordt v
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48. By which of the following West Nile virus 48. I e faumy) w1 "WwEAw e § @ fews
is transmitted ? BT ?
(A) Bugs (A) @A
(B) Sand flies (B) QUSTARH
(C) Mosquito ©) TR
(D) Black flies (D) =% wAEY
49. What is the annual growth rate of  49. Y 2001 ¥ 2011 % <wHg o/@fy ¥ 9Ra
population in India during 2001 to 2011 I SAHEAT I AAF Fe X AT R?
decade ?
(A) 1.93% (A) 1.93 gfera
(B) 2.14% (B) 2.14 wfaww
Q) 1.64% (C) 1.64 gfasra
(D) 1.61% (D) 1.61 wfasra
50. National Council of Educational Research 50. TN e S 3R witnemor qRwg
and Training (NCERT) reviewed the (I ARH) A TA.EL.TH. - 2000 5]
NCF, 2000 in the light of the report : geten fre RO =t Avrt =0t 2
(A) Learning Without Burden - 1993 (A) faen fomam & - 1993
(B) Kothari Commission - 1964 (B) ISR FHIWT - 1964
(C) 'National Policy on Education - 1986 (C) Ui farem Hfifa - 1986
(D) Dr. Radhakrishanan Commission - (D) SI. VHTHDH TR - 1948
1948
'SPACE FOR ROUGH WORK / T% &td & o s
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51.

52.

THIRD PART

Educational Interest

What will you do as Principal, if a teacher
of the school does not come to a function

of school on time ?

You will ask him to meet you after

(A)

the function is over.

You will complain this to the

(B)
management committee of the

school.
You will scold him before everyone.

You will tell him about his

(D)

responsibilities.

Which of the following attributes would

correctly define Jearning ?

(A) Understanding, imagination and
workmanship.

(B) Change of behaviour, practice and
experience.

(C) Belief, creativity and endurance.

(D) Intuition, Intelligence  and
Memorisation.

52.

51.

AT 9T
foraor st

af e T foaerm & TR A o
wwﬁqﬁm%ﬁwﬁw%m
¥ ®qH oY R/ R ?

(A) Frden F T % IvEr 6 e
T faem 1 Fe |

) Tomrem w1 gHEA gfafa &1 E&!
frerraa R
(©) wft ¥ e I S

(D) a7 3% ST SaReiae & fava |
AT |

Frerified B Q FF T O AT B ET
# gftsmifira e © 2 '

(A)  oreelty, SeaAmerr T EIRERIG
(B) oHoER H WREE, S T 79

(©) fovaTe, TRl T8 HETerd
(D) sTraTy, e T
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53.

54.

55.

Which of the following is not an output
device ?

(A) Printer
(B) Speaker
(C) Monitor
(D) Keyboard

What should a teacher do when

examinations are near ?

(A) Complete the syllabus by calling
students at his home.

(B) Complete the syllabus by devoting
extra time in school.

(C) Ask the students to complete the
syllabus themselves.

(D) Help them solving with important
questions.

It is said that there are individual
differences among students in a class. The
fact is :

(A) Great hinderance to teachers in
teaching.

(B) A suggestion for teachers to be
careful in teaching.

(C) Purely a historical evidence that is
outdated today.

(D) Supported by lazy teachers to find
excuses for their weaknesses.

53.

54.

55.

= | @ = ¢ sTeeye feamy! 1@

(A) M=
(B) w
(C) =
(D) =g

T FR1eres sl R e ey St whed free

® 72

(A) Terenteiei =61 o =T R e urgasEn
U1 AT AT |

(B) Tammera # sifafier woa I gy
01 AT =R |

(C) Toenfeiei = e 1o wIgasha gl v
R A =R

(D) #eequl Y31 & T H H ST
TR AT H1f8T |

T 7l A1 & T Tor pen § Forenflelf & g
Fafere fofimmnd o st § 1 aeqeg &

(A) Toreror & fonarenl 37 U oSt e ¥

(B) Twero % SR forershl 1w @
o T geE 2|

(© oi: ww Urerfee yamo & < adam
H sryefera 1

(D) X st fnarer! grr wmffa <t eroet
FASIRE & fow wiE som@ s 9wy
gl
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56.

57.

58.

The concept of practical intelligence is 56.

givenby .
(A) Gardner

(B) Sternberg

(C) Piaget

(D) Binnet

Techniques used by a teacher to ‘teach 57.

include :

(a) Lecture

(b) Interactive lecture
(c) Group work

(d) Self-study

Select the correct answer from the codes

given below :

(A) (a), (b) and (9)

(B) (@) (b), (c) and (d)
(©)  (b), () and (d)

(D) (a), (b) and (d)

Which of the following statements about 58.

teaching aids is the most correct ?

(A) They help in retaining concepts for

longer duration.

(B) They help students learn better.

(C) They make teaching-learning
process interesting.

(D) They enhance rote learning.

e e RMAHFTd BN
fean T ¥

(A)— THE
(B) e
(©) fr
(D) fad

wawmmﬂﬁwﬁwm
slii:]aa;&ﬁ%;

(a) TR

(b) T foramcae TR

() wHEFE

(d) T-3TEIAA

9 fr T O T Y ST R =

(A) (@), (b) T (c)
(B) (), (b), () T (d)
(©)  (b), (c) T (d)
(D) (a), (b) T (d)

et § | R W HAA 0 W (aids)

Tl 3 e T S @ 82

(A) B G SR W T S
T H e F €|

(B) & IO w1 e when # Fer B
g

(©) 3 fireror—eTferTa HAT R TRt S
I

(D) A’ st @R €
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@,

o ) 519.¢

Children of .today are under greater 59. 3Nl 9= U& vareal qd &1 qor ° sifuw
" emotional stress than the emotional stress HIEAH® a1 H ¥ 1 341 2
" of children a century ago. Why ? N S
(A) Society today is more complex. (A) oIt T St S
(B) Bonds with members of the family (B) RER & ¥swl & WY G99 HHER B
are weakened. TR
(C) Schools have not adjusted to (C) foenem s=i & foag wdfsa =16 €1
children.
(D) Parents take less interest in (D) I Sl § w9 & o €
children.
60. In context of the habit of Absenteeism of 60. faenfai =t 31'3’?[’@]]% St 3TEA & G H ¢
student :
(A) The principal and parents should (A) =R wd sfyaast & fafaa 9
get worried. =fEa :
(B) The officials of the schools should (B) Ta=nera ST & SR ifemfEl
. take action against them as per %l 3T foeg FrEfamR S =)
“ schools discipline.
ﬁ (C) The teachers should take it as a (© forerent o1 38 T TiviR weeE % w0 H
serious problem. T =R
(D) They should be given less priority (D) frafha fornfai w6t gern & g faenfefi
in the classroom in relation to ﬁmﬁmmzrﬁﬁ—mawm|
regular students.
:61.° One fundamental principle of motivation ~ 61. SIS %I U Jard F1aw st 915 &) wfaa
. . which inspires students to work harder qRgq W{ﬁ £ fF'ﬂI STIRITSTT T TV
is when :
(A) Students set their own goals (A) B T w@sd W Fifve w3 €
.- (B) Students follow reasonable goals set (B) ®F = R Ffvaa qehama s #
by others S’HFITUTEF{% g
(C) Students know that punishment (C) BEAMIEfFds TrvIfea R |
may follow
L (D) Students know they will receive (D) o SFd & e YRR 9T &t |
rewards
SPACE FOR ROUGH WORK / % &/ & for <17
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62.

63.

What is the name of a system of
instruction that seeks to enable all
students to achieve instructional objectives

by allowing learning time to vary ?

(A) Corrective instruction

(B)

Insight learning
Mastery criterion

(D)

Mastery learning

You have a class which is very
heterogeneous in height. You should

allow a seating arrangement :

(A) Which is random.

(B) Where smaller students are allowed
to sit in such a way that they can
see and participate easily in class
actively.

(C) Which is purely based on height.

(D) That has taller students on one side

of the class.

62.

63.

=g sy 9 &1 & AW & S T sEl W
s g H R w1 gore SR R
e AT Y FAT A €2

(A) guReEs R
(B) TR ST
(C) TR (Mastery) FErR

(D) FITT (Mastery) sAfe

sTqR) e forenfdl @ SR W g 9
T P €1 oTd fRE TR i S5 e
=7 TEfa <7 2

(A) AGHEH

(B) st B @ % faendl 56 FER faeT
T fo & wan ) TifafareEl e
J Yg TF T TR F S |

(@) &msqawsﬁw,mﬁ%ars‘m
et €

(D) et s s e & W et
T 3R &S |
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64. Which of the following is most 64. 191 ¥ 9@ o9l THMSRI i Faiad &9 9
appropriate about your honesty ? EENGECTGIR
(A) T -am the most-honest person. (A)  H waifus $areR SAfF €
(B) Ihave done all my tasks with a sense (B) T o197 9N &l i shdearTsl § e
of duty. gl
(C) I never accepted any gift for any (C) T felt of wrd & fow et off &%
work. ITeR Tl foran B
(D) 1 have turned down so many (D) Y 3% U YEEl ® SRATRR
tempting offers. F fe 2
65. Sunday night, Neha studied for a test on 65. TIAR HI T@ 1 A1 7 WHAR A 0 F
‘Monday morning. She remembered the o e foram | SR 1 39 W9 St |
material quite accurately on Monday and g 81 a1 39 GhE H € ‘T 9T ge|
got on A on the test. However, when she T, ST T < 98 39 A e fe,
took a review test two weeks later, she 3'{5!, %°r T 'clﬁ'&‘ T A e @ AR hT
could no longer remember the same wfd T o8 A ! TS AU H8l qh TS ?
" material. How far in Neha's memory did
the material get ?
(A) It reached her sensory register (A) % IGF HidfeHh TSR0 TH qg“%ﬁ I
(B) It reached her working memory (B) o% 3! kT HHRI TR Eecil
(C) It reached her long-term memory (C) % & SrewIeId T 9% TgH |
(D) It never got into her memory at all (D) o IS Tfd o Hft =l g |
66. Teachers who are enthusiastic in 66. ey foreror | Q’@ Torerr <l SR B € A
" classroom teaching they : .
(A) Simply dramatise to hold the (A) foenfe=l &1 e sTRida FG TG
students attention. AT | ALHTT ST FI § |
(B) Often loose proficiency in the (B) UM U IS H oTTH ISR fodt g%
subjects which stay hidden under forerTd g&r i @l <d §
their enthusiasm.
(C) Involve the students in teaching- (C) fomnfeil =1 Rneror-srform wfsan &
learning process. ATl 9§ |
(D) All of the above. (D) ST |+t
SPACE FOR ROUGH WORK / T% @14 & o se
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67.

68.

69.

Which of the following cognitive abilities 67.

is of the highest level ?

(A)
(B)
©
(D)

What is the most effective way to reform 68.

Knowing
Understanding
Analysing

Evaluating

the aggressive behaviour of a child ?

(&)

(B)

©
(D)

If a student does not pay any respécf to 69.

He should be kept in isolation.-

Reasons for this behaviour should
be investigated.

He should be purﬁshed severely.

He should be ignored.

you, then you will :

(A)
(B)
(©)
(D)

Ignore him
Award less marks in examination
Talk to his/her parents. .

Rebuke him

et o 9 R | HFETHE S S R
HE?

(C) Togerao &

(D) ¥ HT

I91 % STHEMS FFER W GURA I G

g TR T ’
(A) S THE T e

(B) <E¥ =R F 9 fod Fl wi i
HTT AT

(C) <8 wIrar & e foran ST =fey|

(D) =¥ oTHRwEn foran ST =et |

o i Pt oo W T A A
ST .
(A) S TSRS w4

(B) iem & W 3 FEH BT
(C) SHF T § o B

(D) T HEH
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70. The best method of checking student’s  70.

homework is :

(A)

(B)

©

71. A reward that is external to the activity, 71.

To assign it to intelligent students
of the class.

To check the answers in the class in

group manner.

To check them with the help of
specimen answer.

To check by the teacher himself in
a regular way.

such as recognition or a good grade is
called

(D)

72. Which quality is most important for 72.

An intrinsic incentive
An internal drive state
An extrinsic incentive

A primary reinforces

students ?

(A)
(B)
©)

(D)

Hard work
Obedience
Humility

Independent thinking

ferenfofa & e @t W= & i fafy
TR F qGHM (el &1 e F1FHA
ST

(B) Wrfeeh &1 | el H T ot A FLA |

ey ST 1 HewEEl § w" wA

Trafia =g 4 frees & g0 @ S
FEAT |

TF R S ity % e o € 9
TFEH AU T§ TS A7,
FHEAI € |

A e

(B) Tiafie SRrom Sae
(C) el HieHrEH

(D) iR e

(A)

forenfofai & o waifas wemyel T 2 -

(A) wwfeT 9RgH
(B) ARG
(C) o

(D) & fam

Set - A
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73.

74.

75.

Behaviourists proposed that to study
learning in an objective, scientific manner
they must focus on two key things that
can be observed. What are they ?

(A) Attention and Memory
(B) Responses and Stimuli
©
(D)

Responses and Behaviourism

Memory and Response

Classroom teachers have which pair of
qualities under their direct control ?

(A) Incentive and appropriateness of

instruction.

(B) Room temperature and lighting

©

Student’s aftention and quality of

instruction.

Seat time and student’s attention

(D)

If the students of your school are not
interested in doing work jointly, then what

will you do ?

(A) All the teachers work jointly before

them.

(B) Tell them about the importance of

working jointly.
Present examples related with it.

Suggest them to read books on this

matter.

73.

74.

75.

(A)

SRR 1 FeA B, T sifera = S
T SRS T @ e wH F e
Y@ SIS w1 ST S %, A FME?

(A) T qe Sfd
(B) STfeman q= SEIF
(C)  SFfHa T HERRAR

(D) Ffa de STgfha

ey forers 3 O S = g faRead se
yeget Forisor ® B © 2

(B) & TTUHA TS THRI

(C) BT STFHE T fe sl TorE

(D) ‘Hie’ HEE qU1 BT AU

Afx s EmeE % o fHa-Jaet w
FT § He wied ¥ A AT T BT ?

it forarer fer-SeTet BE & W
Eapicaul

(&)

() fHE-orRt FTd FA F HEd B

T |
TR Heifer SRTeRel Wgd F |
79 v T & Te el |

(©)
(D)
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76.. Priority to girl education should be given 76.. =nernt foen w1 wafgwa & S =R,
. because : I
(A) Girls are more intelligent than the (A) wIferhTd, STerehi | STfie FfgAm
boys. & )
"* (B) The girls are lesser in number than (B) SferehTd, STeTh] o He | FA B 1
boys.
(C) The girls were badly discriminated (C) YA T Sethi wI e § ElcEal
in favour of boys in the past. S T TRTE I RTRR Bt o |
(D) Only girls are capable of leading for (D) e wfererrd & G aftada &
social change. A F H TEH T
77. What is a strategy for accommodating 77. o fafEm & AT9R Few wHse ol i
instruction to student differences ? Rl TR B 7
(A) Psychoanalysis (A) HIfgerooT
(B) Student’s T distribution (B) B & T faewo
(C) Between, class ability grouping (C) heTT-HE &A1 FHEIH
(D) Administering intelligence tests to (D) F& H 'H“ﬁ BET W g ThEm &
all students in class. JuTTHd
78. What are some ways for a teacher to 78. T e ¥ fou ST 9IS I GISFT S
include visual imagery in his/her lesson o gfe wiaar 1 wffe w6 g SF 9
plans ? TAF § 2.
(A) Pictures INEREE!
(B) Maps (B) TR
(C) Graph () uw
(D) All above (D) ST w4t
SPACE FOR ROUGH WORK / 1% &Td & fotdl 7
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79. A lesson that is developmentally 79. @Wﬁﬁﬁ?@ﬁ%mfﬁwm
appropriate for adolescents would be ¥ SUgH §, ) forwar _ il
characterized by ____ eses
(A) Using flash cards for review (A) AfdeET o fag TAT HIE T ST

HT
(B) Memorization of fundamentals (B) ERYd ol T
(C) Steady growth in understanding (C) HHI T &HAl H T Jfg wE
and capabilities
(D) Repetition of important facts. (D) wq@ qe Qe

80. Dyslexia is associated with . 80. fewaifmmm Y wefua B
(A) Mental disorder (A) HAHREE Tapfa
(B) Behavioural disorder (B) SHURRIHE forfa
(C) Reading disorder O T 1 fasfa
(D) Writing disorder (D) formm =t fasfa

SPACE FOR ROUGH WORK / T &1 & fod I
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FOURTH PART/=rdel W 84, Foreanesiters forg (1) 1 wdm B %
qEr e (A) T R I R e

(B) el Teurfa fafmm 7 &1
81. A=A ¥ fHad TR T ?

C) 9= H ™
@A) T | (©) o
(C)
(D) =™ 85. TR Tl WS hl WHG T T it 9 I K
mﬁwﬁaﬁsﬁa%:
82. ‘#f & e fp o e ® 3@ A H (A) fau =t g @ig ¥k
Frerfafed ¥ @ SF 91 STETE § 2
B) 9% 93 W A fE W 3o 33
(A) T - (B) 33 3

(B) T - ST (C) M S 7 o S

(C) foran foimor - S9eTR (D) ¥ < e, 7 WE I
(D) fasioor - S9ar
86. ‘AfEl d wod I3 TG M R AN A ™
83. ‘Y - Y I U A WEl Adaren fased ool ® T 1 T ¥R YU

g

(A) TafEt
(A) I -T@

B
(B) T - E (B) mm
(©) it -gm (©) TR
(D) fowr - W T (D) STt
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87. it W & & fog fopa qereR w1 s9am 89. feraTdiaen Fo-a-faRIvo & foFad A E? -
Taferd © - '

(A) T
(A) I T

(B) @
(B) R | I

2 (C)
(C) &g o
(D) e L A=A HT (b) =w
88. TE A TS VR FT A it 90. ‘e[ ¥ el T S’ | ¥ o F AT :

(A) I (A) WFET=A
(B) ers{e | ” (B) Hqarsd
(C) RSt (C) hdarea

.....
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FIFTH PART/ Ueq W 93. Choose the most appropriate answer :
General English ‘Is swimming good for health’ ?
In the above<sentence, the underlined
91. Choose the correctly spelt word from the word swimming is used as :
following :
(A). Present Progressive (Present
(A)  Aparthied continuous)
(B) Apartheid (B) Gerund
(C) Aparthed
(C) Present participle
(D) Aparthad
(D) Past participle
92. They get wet if it
94. Choose one word substitute for one who
Choose the most appropriate words to fill is centre of attraction :
in the blanks in the above sentence.
(A) Centrefugal
(A) Will/rains
. B) Centripetal
(B) Will/rain (B) Centripeta
(C)  Will/rained (€) Cynosure
(D) Would/rains (D) Cytocentric
SPACE FOR ROUGH WORK / 1% & &% ot g
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sad the following passage and answer the
1estions 95 - 97 based on it.

Today I, Rabindranath Tagore, complete
ghty years of my life. As I look back on the
st stretch of years that lie behind me and see

clear perspective the history of my early
svelopment, I am struck by the change that
is taken place both in my attitude and in the
sychology of my countrymen-a change that

rries within it a cause of profound tragedy.

Our direct contact with the larger world
men was linked up with the contemporary
story of the English people whom we came
- when know in those earlier days. It was
ainly through their mighty literature that we
und our ideas with regard to the newcomers
~our Indian shores. In those days the type of
arning that was served out to us was neither
lentiful nor diverse, nor was the spirit of
ientific enquiry very much in evidence. Thus
eir scope being strictly limited, the educated
“those days had recourse to English language
1d literature. Their days and nights were
oquent with the stately declamation of Burke,
ith Macaulay’s long rolling sentences;
iscussions centred upon Shakespeare’s drama
1d Byron’s poetry and above all upon the
rge-hearted liberalism of the nineteenth

ntury English politics.

95.

96.

97.

What helped the Indians to conceive of a
notion of the Englishmen ?

(A) Their advanced weaponary
(B) Their literature
© ‘Their orders

(D) Their administration

Who could gain from English literature ?
(A) The educated Indians
(B) All the Indians

(C) Only writers such as Rabindranath
Tagore

(D) None of the above

Whose speeches did Tagore listen to, as a
boy ?

(A) Shakespeare’s
(B) Byron’s
(C) John Bright’s

(D) Macaulay’s

SPACE FOR ROUGH WORK / % &t & fo& sig
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In questions 98 - 100, each passage

consists of six sentences. The first (S1) and the

sixth (S6) are given the beginning. The middie

four sentences in each have been removed and
jumbled up. These are labelled P Q R S. Choose
one of the four alternatives given below every

passage which would be the most logical

sequence of the sentences in the passage.

98. S1:

S6 :

(A)
(B)
(©)

The coming of the computer
sparked the need for remotely
operated controls.

The code is based on binary digits.

It is silicon chip that is at the heart

of the remote control.

This produces an infra-red beam,

which is made up of

electromagnetic waves.

When you press the button on the
remote control, the chip sets off an
electric vibration.

The beam carries a coded signal
such as switch on, raise volume, etc.

PQRS
PQSR
PRQS

RPQS

99.

S1:

S6 :

(B)

©

(D)

Health is the most valuable of all

earthly possessions.

The man who does not overeat rises
early in the morning at ease with
himself.

To enjoy good health we should

refrain from excess in eating.

Otherwise we will not get sound

sleep.

We would eat only moderately and

not devour whatever we get.

Without it all other possessions are

worthless.

QSRP

QSPR

SPRQ

SPQR

Set- A
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100. S1: There was a dacoit who uéed to rob
rich people.

S6 : He robbed rich people again.

P: Once the Police managed to capture

him.

Q: He was sent to prison for 10 years,
but he managed to escape.

R: He helped the poor and the needy

from the money so obtained.

S: The court which tried him found

him to be guilty.
(A) RPSQ
(B) RSQP
(C) RPQS
(D) PQRS : ’
-00o0-

SPACE FOR ROUGH WORK / 1% & & ol srg
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Iv3S :

SET - A

I 3ifeRd T T WU : 2°HS | ftreRaw Sieh : 100
Time for marking answers : 2 Hours } { Maximum Marks : 100
T
1. wm—uﬁawﬁumm@ﬁ

(i) WIH W : WHR WA T - 30 3

(i) o o wme Je - 20 3

(i) el 9T freror st - 30 &

(iv) orgel 9T\ -10 3%

(v) U T w9 SUS - 10 3k

TEF YT 1 3 1 S\t TE 5 e Stferd ©
2. U % S, & T OMR SW-3Me (SR W) W sifra wifaw)
3. TRUNHR YodichT Tal fehal ST |
4, T o We ¥ Femeret A @i o Ud HISEe B H YAt 8
5

OMR IT-32 (TG 9E) T T F G TH RS raqraer 7 /a9 999 98 he S a1
<o e = faeae afE 9g S Rrash heresy 98 T 8 S |

Note :

1. This Question Booklet consists of Five Parts :
(i)  First Part : General Mental Eligibility - 30 Marks
(i) Second Part : General Knowledge - 20 Marks
(i) Third Part : Educational Interest - 30 Marks
(iv) Fourth Part : General Hindi - 10 Marks
(v) Fifth Part : General English - 10 Marks

Each question contains 1 mark. All questions are compulsory.
2 Indicate your answers on the OMR Answer-Sheet provided.
3 No negative marking will be done.
4.  Use of any type of calculator or log table and mobile phone is prohibited.
5

While using OMR Answer-Sheet care should be taken so that the OMR Answer-Sheet does
not get torn or spoiled due to folds and wrinkles.
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